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One witness is believed concerning prohibitive acts.

OVERVIEW

An X 7V is believed to testify on matters of 207 719°X. He can testify that
this piece of meat is 7Ww> and not 777°23, or whether this mp» has the proper
7YY or not, etc. There is a qualification to this rule. If there is a M0°X NP,
then (it is questionablel if) an X"V 1s [not] believed to contradict the npIn
Mo°X. Were he to testify regarding a woman, whom we know that she was
married, that she is now divorced, we may not accept his testimony. This
qualification itself is subsequently qualified. An X"Y can be believed even
when he contradicts a M0°X NP1, if he is capable of rectifying and removing
the 710°X. He can say that he was 71170 w197 from this grain, even though
there is a 2V MO°X NP on it, nevertheless he is believed to say that he was
7M1 WI9n since it is 17°2 to be MmN woon. In regards to a VAT W who
says 1"92 that it was written 7w, this seems to be the regular case of X"V
0K 1aR1, where there is no XMO°X PINN°R — we do not assume the V1 was
written 72 X2w, and it is not 17°2 of the TW\M*5w to write the 7W? V.

— 1NN TNN D NINN NIMINRN 9TV DIVIPN Y1
>'"w9 explains; where do we see that 1P0°X2 X1 X"V for the 77710 believes
every individual -

— 9N 19N P2 NVINYIY NMIN NYWH9N DY
Concerning separating 7190, ritual slaughtering of an animal, removal
of forbidden sinews (7w 793) and veins, and forbidden fats of an animal. A
person, who is invited to a friend’s house to eat, may do so on the say so of the host that
the food is kosher, and none of the abovementioned items presents any problem. Even
though there are no two witnesses that the host was 7170 w191 or the meat was vnwl

properly etc. We believe the testimony of the single host. This proves that a8l X"V
ORI,

yn

MooIN comments on s""w7 explanation:
— NN PINNONT 2) HY N AN 1NINAT NVINYY NMIIN NYIDN 9991NY I NN D)

However, >"w7 should not have mentioned 7w 2 72190 among the items

! See 727 "1 7"7 Moo, quoting the X,m5 M»2> x1m3. We will assume that he is not believed.
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he listed to prove P10°X2 X1 X"V, for in these two items he is believed

even though there is a MR NP originally® on the food®. This is highly unusual
that an X"V should be believed when XM0°X P1nn°X. Therefore we must say the reason
why an X"V is 12X1 by 70w 7m0 even though that it is XX PIANK, 1S —

— DAY 12T DIUN

Because the X"V has the capability to correct this Mo}, by being 72170 w51
and being vmw the 7172 -

— (x,n9 MN32) NI NYRNA 99N 221 TV ©IVMIPH V9V 10
as >"wn will shortly comment®. And similarly this is said in 7wx7 P2

7739, Therefore, this type of PM0°K2 1281 R"Y where it is 01pn? 17°2 has no bearing5 on our
case of the mbw testifying that it was written 7nwY, where he does not have® any
capability at all to change the nnw? status of the va.

mooIn challenges his own assumption that 7V nw is pn% 17°2:

—19PNY Y722 PN XIYHT 2) Y 9N VN
and concerning mw W, which mdon claimed that >"wA should not have
included it since it is 17°2, NMd0IN asks, even though that presently, when he

is serving the meat, he is no longer capable to correct the problem of 77°21,” so
why is he 1283, since it is RMOR PIANKR?

nodIN answers, that nevertheless since —
— VINYY 1192 NN NIPIYN
Originally he was capable of 7w (either by himself or arranging for someone

else to be vmw), that is sufficient to be considered 1pn% 17°2. MoOIN offers proof for his
contention —

% In the case of 71n; all grains are originally 2v and forbidden to be eaten unless one is 77190 w9, In
the case of nvnw, every animal had an 777°2% 10°X on it while it was alive. The n1nR1 of the X"V in these
cases can seemingly outweigh even a 10°K npm. When the X3 said 10°X2 1K1 R"Y concerning w1 m°2w,
we meant only where there is no M0°X npin, as in the case of 7MWY, where we cannot say the 3 is X?w npa
TMwS onnn anol.
3 Concerning 2%m Mp°1 however, there is no Mo°X NP1 on the meat we intend to eat, that it was ever 72
7w3n or 29n. Therefore the 7v is believed.
* See prnnex X271 71"7 *"w. See “Thinking it over’ # 1.
5 One may ask that 7537 11 is also Jpn? 17°3, so it too should not be mentioned. See >3 ,7"0 ,»"n1 et al.
The consensus is that the 7pn is testifying that: a) he was p1a, which is 1723, and b) that the meat he is
serving does not contain a mixture of 717 7°3. Concerning ‘b’, there is no XMo°X PN that this meat is 7°3
7w1A, and it is not 17°2 to transform the 73 into W2 w3, therefore as far as concept ‘b’ is concerned it is not
RT0°X prinek and also not 17°2, which is our case of "»¥ ,1™10°K2 1K1 X"V,
® Nor did he ever have. See Footnote # 8
7 As opposed to 7m0 where he can be w51 the 72170 presently as he is serving the meal.
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— NIOIN PINNNT 1953 12519 INHN 19 NY ONT

For if you will not agree that this is considered 17°3, but rather insist that it

must be 17°2 now, then why indeed is anyone solely believed that this is w2

TN, since it was RM93R PIINOR. One cannot say that indeed the only way that one is
permitted to eat meat is only if two people will testify that it was vrw1 properly -

— 12 Yy TIY THN DI7X2 TIVNY DIPN DIVA 18 NYT

For we do not find it mentioned anywhere that there is a requirement

that another adult should be standing together with the vmw, so that we can

have two witnesses testifying that it is 7w “Ww2. Therefore that proves that we do not
require that it be 17°2 now, rather it is sufficient that originally it was 17°2.

mooIN continues to prove his point, indicating a possible rebuttal to this logic:
One may challenge n1©01n proof by saying that the M1 of 1772 is only if it is 17°2 now,
and not if it was only previously 17°3, and the reason why we may eat on the testimony of
the vmw, is because there is a 217 (a ‘majority) that tells us it was vnw1 properly, namely
that the 217 people that are vmw are competent 2°vmMw. Therefore it has nothing to do with
the minX1 of an X"y, but rather on account of 217. NMBOIN responds that this is not so, for
there is a MInX1 of an X"V by VMW even when we cannot utilize this 217 —

— 12°917 0 Y92 DIV

And it is an everyday occurrence that the vmw alone is believed (on
account that it was previously 17°2).
— 17 PHNM NVINY HSN PN 299 7Y KYT 2) Y GN)
Even in a situation where this rule that ‘most people who frequent at places
of M MW are competent 2°vMY’ does not apply -
— 95 NVINYN N PRI YNRIN D TNV D
If for instance the entire head was cut off and the place of 7w cannot

be discerned, nevertheless if someone claims that he was vmw it properly, he is
believed. In this case we cannot say that the reason he is believed is because 7¥X 1°1%¥1 217
17 Pmn qunw; for we do not know that this animal was w3, since its head was severed
and we cannot tell if it was vIWw1 or not. This proves that the only minX1 is because he is
an X"V, and regardless that there was a 21 M0°X NP1 on this animal nevertheless he is
now 7nX1 to say that it was vnwa properly, since previously it was 17°2 that he could be
vmw the animal properly.

mooin asks an additional question:
— NVINY MAYD MPYTH PRY 29 Y AN VNV OIWIN Y 191910 1INY 1)
And the reason why we depend on women concerning 7w nw, i.e. if a
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woman serves meat we trust her that it is 70w w2, even though they do

not know the laws of 7wnw, therefore seemingly it is not 77°3, not now and not
previously, for they do not know how to be vmw. The question is how can we depend on
them, for they are only an X"y, and it is RMO X PINK?

mooin replies:

— 7 N5 NYHIVNYIY DIINN 923YNY INX VINYY TINDY NTYaY 1))
Since she is capable of learning how to be vmw (the 7w of a woman is a
7w> v nw) or she is capable of hiring others (valid 2°vmw) that they do

the s for her, this is considered as if it is 577°2. It is not necessary that the
persons themselves do the nvnw. If, for instance, (s)he can see to it that the food is
prepared in a 7Ww> manner it is considered 1728

mooIn asks:
— PAYDINA PANI TAN THT 193939 9NN ON)
And if you will say; from where do we derive this 7 that %81 R"Y

TR, We have proof that P110°R2 7K1 X"y from 29m 737 P°1, however what is the
source 7N 11 that PMOPR2 781 K'Y,

NB0IN answers:

— PNIYYY 1Y N0 (x5 mams) TN P92 19T DTN 135IN0NT 1Y YW
And one can say; that we derive it from %771 M7, for we have a 7wA7 in
997277 299 that when the 7710 states, concerning a 727; ‘and'’ she shall count
for her(self)’ the nw17 of the word 1% is to be understood, that she may

count it by herself, and she will be believed to say that the required seven days have
passed and she was n%2 and is 770, We see that we believe an X"y, that she is 77170,

Mmoo poses a question:
— NN PINHN 199N 19 ON 99NN ON)
And if you will say; if we are deriving the 17 of 1M0°X2 181 X"Y from 771,

then an X"Y should be believed even in a case where it is NN PIMNSN.
When the WX sees 07 she becomes a 7171 (or 71271), and is MO°X NP2, and nevertheless she
is believed to say that she is 77170 against a MO°X NPIM.

8 The van mhw, however, is not empowered to write the va. It is up to the husband to direct a 1910 to write
the v3. Therefore it is not 17°2 of the v MW, and he can be believed only if it is R1DR PIANR K>.
? The 7% 1190 p102 is actually discussing a 7121 not a 773, however the same rule applies to 772.
915 0 (yn) X
4
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mooIn responds:
— YV D3 AN NNNY NPINA NINRT 9999 YN
And one can say; that there is no 1Pt by this woman that she will

continually see 2%, on the contrary, she will see 07 naturally only for a limited period
and then cease seeing 07 -

— NN PINHNR XD XDMNIN NNV NYaY NYayV
And once the seven days pass'' and she is not seeing 07, as is the natural
state of affairs, that 7771 07 does not last seven days, she becomes ;17770

automatically'® and therefore there is no real 1998 NP1, as opposed to 220 for
instance, where the 720 Mo°X will not go away on its own, only if you are »"™n w>9n,
here however the M0°X will automatically disappear in the allotted time when she will not
see 07. Therefore when she says that her seven days of 771 have passed, she is not
testifying against any M0°X npim, for we expect the seven days to pass at one point or
another; she is merely informing us that the time is now.

There is still a question remaining: After the seven days passed she is still 7771 710°X NP2,
since she was not n?21w. How can we believe her that she is completely13 7MY, against
this Mo°Rk npn?! To which NMvoIN responds in his conclusion:

— 91305 N2 oM
And concerning the completion of her 7770 — she is certainly capable of

being n®a in a mPn, and as was stated earlier, that when it is 17°2, then an X"V is
believed even against a M0°X NPIM.

SUMMARY

The proof that 110°%2 181 R"Y, in a situation similar to a w7 7?2 who is
testifying that it was written nnwY, can be derived from the fact that people
are X1 on 737 P and 2%n. For in those two instances there is no npIn
TI0°R on this meat that it is either 7win 73 or 2%n. The fact that people are
believed for 77170 nWwIo and 7Y N is irrelevant to our discussion here, since
in both those cases there is a 710°X NP1, and the reason the X"Y is 71X1, is only

" 77907 12 a 771 is Xnw for only seven days after the onset of seeing o7, provided she stopped seeing o7
before the seventh day passed.
"2 Mmoo does not mean that after she ceases seeing 07 she is a 777V after the seven days; for she does not
become 170 unless she is N2 in a MPn. Rather, the intent of MdoIN is, that this limitation that seeing 07
places upon her, namely that during this time that she sees o7, she cannot do anything (7%°2v) to become
7170 (she is Mok NpIa), this limitation ceases to exist automatically, without her having to do anything,
once she stops seeing 07 after seven days, and she has no more this M0°X npi.
> We believe her that she is not seeing o7 and seven days passed, because that is not in contradiction to any
1, but that does not make her completely 77370, until she is no21w.
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because it is 17°2. This cannot apply to our case of w7 %W, where it is
definitely not 17°2 to write the 7nw? va.

The M1nR1 of 17°2 is not limited to a situation where it is only presently 17°3;
it applies even if it was 172 in the past. This explains why people are nX1 to
state that this meat is 7w, since in the past they were capable of either
themselves being vmw the animal properly or hiring others to be vmw
properly.

We derive the rule of 7110°X2 nX1 X"y, from the 105 concerning a (7771) [727],
which says 1% 7790, that the woman can count by herself and tell us when
she 1s a 7717Y, we see from here that even one person is believed to testify
that there 1s no MO°X.

We cannot assume that since by a 7771 she was M0°X NP2 once she saw 07,
therefore the fact that she is believed to say she is a 7770, proves that an X"y
1S JAK1 even against a MO°X NP1, This is incorrect for the M0 X NPT by a 771
is a 7p1n that will automatically become nullified as soon as she ceases to see
a7, which is the natural state of affairs, therefore her testimony that she is no
longer seeing 07, is not contradicting any 711; and we subsequently believe
her that she was %21, even though she is still 773 MOX nNpIa (even after
seven days), because in regards to 177°2v, it is obviously 77°2.

THINKING IT OVER
1. Why is 172 believed even if X7M10°X piin R? " Is it because 17°2 removes the
RTOX PIANK, or because 1772 is a special Mixa?"”

0l4

2. How shall we explain the difference between the 17°2 of a bMWY in the past,
to the 7772 of a woman concerning o nw?'°

3. How can we derive PM0O°R2 7a81 X"V from 771, perhaps by 771 she is
believed because it 1s °naw 7197 7OXW 797 (she had the option of not
informing anyone that she is a 771)?"’

14 See footnote # 4.
15 See n"m
16 See 7"nx # 152.
17 See 7"nx # 166 and n"n1.
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